
Parts

WORK & MOVE Desk home white 120 x 70

D

L
N

A (x1) B (x1) C  (x1) D (x1) E (x2)

M4x10 (x4)
F

5mm (x1)
M

M6x12 (x8)
G

M6x20 (x8)
H

M6x50 (x6)
I J 

(x8)
K 

(x2)
L
 (x4)

N
 (x1)

C

Shorter Wire

ake sure the longer side of 
the base and the handle is

M
G

Longer Leg

Make sure the longer part of 
the side bracket is facing 
towards to the front.

K

K

J

H

Front

M

Back

facing towards the front.



The handle will be loose
during transport. Please 
tighten the knob to make
sure the gas spring can 
be used.
Note: Do not press the 
handle while tightening
the knob.




